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1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No..

2. At the start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

%  The serial numbers of test booklet and O.M.R. answer sheet
are same.

* Al pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S.'No. 1 to last S. No. 100
are printed and pages from S. No. 1 to last S. No. 24 are there
in the question booklet.

In case of any discrepancy/defect the candidate should

immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this

‘regard will be: entertained after five minutes of start of examination.

Candidate will be liable for it.

3. Answer all questions.

4. Al questions carry equal marks.

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be ireated as
wrong answer.

7. Negative marking is applied, one third (1/3) of the marks
allotted to the question will be deducted for every wrong

answer. Wrong answer shall mean an incorrect answer or
multiple answers..

8. . Each question has four alternative responses marked serially
as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.L.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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gﬁ?rﬂ"ﬂ # gl B =T/ Number of Questions in Booklet : 100 E § P
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1. PUE S e THEY SITAAR. UFE RS WEl W |
Ted el qax wx ) el W geverh @)

2. yuE-uA & B W gd, e UR B & we-us gReadT v
JMUHIAR, ST—TFF B Hell-4ifa wira B g8 gAkEd & o
fep:

+ U939 gRAHT U4 SUHAR. SIR-UHEG $ HHG b WA 8 |

* w—wgﬁamqﬁ@.mm.ﬁ—m%wﬁqauﬁuﬁ
g0 ¥ | uee—ua yfkadt § ue W 1 & affaw HHiw 100 a@ i
TS HHAR Gfad § Ud Wl S HEAN 1 W 24 76 Hiog & |

fief N g @ i @ ar Syl 89w g gRaer wa
AMUAIAR, STU-U=F BT GO RIBIHT AR § 9 o of | T
o B @ 5 M @ gy i Ry F fRft g/ amif w o
fereme =1} fopan T | o wwe Rreer apeell @ 2efi

i weEi @ SR S|

it yoHi & i GHA B |

TE G B DAt U & IR IR | :

U Y Afers STR 9 @ <¥T W U @ Su} @ e "l

S | ‘

7. IS HHH 40 &, Ue e OTR B [0 Y UR SmEfed
@l w1 v e (1/3) ®re R s e 9eR @1 el
BT 3T SR A1 Ue W it IR |

8. UIF YH ® UN dofeud ok Ry MU E R @Ew
(A), (B), (C), (D) aiftrer faar wrar & | arwnefi &1 Wl v fAfde
B Y ST A el U TIel a9l bl SR-UHD W
A dier @ige U W TEY B B |

9. WEEd B/ ey fEargw srar geagie a5 &1 ader g §

v g aftfa @1 aft el eneefl & g O @ aRfa

i e 2, o v fave A€ gRT FaER HoR sRianE

Y STt |

10.  afy s uesr & R ud aieh wurant # el uaR @ @
RO AT OIS UBR B Ffe B, A1 ueT @1 s wurwe
A BT |
AT : AR B arell e PR THE W ¥ A SHD e &
w1y g amdl mE ol }, 99 eraeit @ favg gfera # werfial
ol g omrtt sy ooy S weET @ e s, 1902 @
HRT 3 U9 a1 YR B ded Sra @ well | e @ 9l i
aneft ) afasy 3 B arel 4 @1 T Themel ¥ fAafia @ awar
2l

NP
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1. What efforts should be made by the teachers to

explain technical terms or difficult concepts of
a lesson?

(A) Explaining with the help of examples
(B) Explaining with the help of TLM

(C) Explaining with the help of drawing a

diagram on the blackboard

(D) Above all

U1 # A T+l ] AT B STGEROTRAT

P WE F b forw Rierd w7 HY Gdhd 57

(A) SETERYIT ERT ST TIPHRUT

(B) Rreror aftr |t & gR1 g
W HT

(C) Tgrug WR & 9911 SH®! SARAT

(D) SR Wi

- Which of the following is an example of

effective motivational strategy to encourage

students to learn? ,

(A) Giving opportunities for competition to
students in class _

(B) Providing scaffolding specially, when
students learn a new skill

(C) Emphasis on competition of work rather
than learning

(D) To dictate the answers of questions to
students -

fF=faRed § & @9 vEl @ a3 foy

weAed e @ forg uWEl SRe IO @

' Y% IETERIT 87 '

(A) werr 7 fenfeiat 1 foanfirar & srawaR &

(B) faemeft S wam dive Vg € 99 5%
WEANT US HRAT '

(C) aferm™ & o &Rt @ uferafiar o) ga
b ‘

(D) farenfefat @7 uei & SR forar &=

3.

Sequence of 5 E’s in Roger Bybee’s 5 ‘E’

model -

(A) Explore, Elaborate, Evaluate, Engage,
Explain

(B) Engage, Explore, Explain, Elaborate,
Evaluate

(C) Evaluate, Elaborate, Engage, Explore,
Explain

(D) Elaborate, Engage, Evaluate, Explore,
Explain

foR ardl g1 &Y 7Y 5 B’ diew # dfel ‘B’

BT HH T —

(A) Explore, Elaborate, Evaluate, Engage,
Explain ‘

(B) Engage, Explore, Explain, Elaborate,
Evaluate '

(C) Evaluate, Elaborate, Engage, Explore,
Explain :

(D) Elaborate, Engage, Evaluate, Explore,
Explain

Children are usually egocentric , during

................. B0 .o Gsnnamnns DLARES,

(A) Sensorimotor,Preoperational

(B) Formal operational, Sensorimotor

' (C) Preoperational, Concrete operational

(D) Concrete operational, Formal operational

(B) sito=iRe Fame, SHfaa
(C) q:ciéﬁam:r, SR—¥ETer

(D) SrF Hare, uaiRe Fares

119B - ¥
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In how many different ways can the letters of
the word ALLAHABAD be arranged?

(A) 3780 (B) 7890

(C) 7565 ) (D) None of these

ALLAHABAD v& & 2RI & fdes
T3 Th] O aRerd far S g
27 .

(A) 3780 (B) 7890

'(9) 7565 (D) 1% A P T

In a row, Suman is ninth from the left. Akash is
eighth from the right. Nihal is standing exactly
at middle position between these two. What

, could be the minimum number of persons
~ placed in' a row? ' ‘
(A8 (B) 9 .

© 10 (D) 12

U e §, gEe 9 iR @ AT WM W
FrepTer S AR W emed I W g | fFETe
59 < & 1o dra # wer B | dfew A eafaeai

Y g G fhae 8 Hal 27
(A) 8 ‘ (B) 9
(€) 10 (D) 12

Two statements and two conclusion are given
below. You have to decide which of the given

- conclusions logically follow from the given

statements, disregarding commonly known

 facts.

Statements: Some horses are cats. All cats are
hens.
Conclusions: (I) Some hens are horses.
(IT) Some horses are hens.
(A) Only conclusion I follows
(B) Only conclusion II follows ‘
(C) Both conclusion I and II follow

(D) Neither conclusion I nor Il follow ‘

@ HF 3R g1 ey H faw v # | emuet

g fAfdaa o & e #§ 9 P sy
AT ST Al @ AT W g9 U Y
Pl BT MM WU W ATAT BT B |
Fo : B BN Rifeerai & | el oot qffi
gl :
s : () oo Affar O #)
() gE =18 it 2

(A) Baar fspd 1 SFERT Hal &

(B) Baal fspd [T IERYT vl &
(©) ST Frepe 1 3R 11 SFRRoT FRay &
(D) = < fAspd 1 =7 € 11 R & &

A question and two statements are given below.
You have to decide which statement is
sufficient to answer the given question.
How much money do R and S have together?
Statements : (I) S has ¥ 200 less than T.

- (I) R has ¥ 300 more than T.

~ (A) Only 1 is sufficient

(B) Only 11 is sufficient
(C) Both I and II are sufficient together

(D) Neither I nor I are sufficient

T ue AR &1 FeE A faw T &) sl

a0 B ¥ b QU MU U @ SR o @

forg BT B AT € |

R 3R S & U Ud AT Fel foban & &7

F (DS & U T ¥ 2008 &9 & |-
(DR & U T ¥ 3003 RITET & |

(A) Baer 1 9o &

(B) et 11 v 2

(C) BF I iR Il yaperrel qaiet &

(©) = & T = & 11 v &

119B - 4=
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9.

Study the following pie chart carefully and
answer the question given below-

The pie-chart given below shows the
percentage distribution of the number of tickets
sold by five different theatres. The number of
tickets sold on Friday = 950

Cinepolis
20% /
,/
/ Mukta A2
16%

Jyoti Cineplex
30%

\ Rangmahal Cineplex
2% .

Out of the number of tickets sold by Rangmahal
Cineplex 7/12 were purchased by females and
out of the number of tickets sold by Jyoti
Cineplex 1/19 were purchased by females.
What was the total number of tickets purchased
by females from Rangmahal Cineplex and Jyoti
Cineplex together?

(A) 148 | (B) 143

(€) 126 (D) 152

ﬁﬂ%ﬁgﬁﬁﬁﬁﬁmwﬁ
IR e Ry 1y w97 &1 SR -

3 e war urE—=ne v srerT—arer forvexy
ERT 99 ¢ fewel & wwar & ufoera faarer

qEar ¥ gHaR B 99 U fewel @
'\‘i@T=‘950

Ve Reeied gRT 99 U fewel &) wen
¥ 7 /12 afeamsii gRT @ U o 3R Iy
%ﬁ@wméﬁwﬁaﬁ‘raﬁmﬁﬁ
1/19 #fgemel gRT @RI MU 9| FTHEd
Rcea ik waifr Rrwew 3 ﬁc—vnaﬂ
w%maﬁam@ﬁéwf%?ne‘raﬁ

10. One term is wrong in the following series. Find

11.

12.

that wrong term —

4,15, 64,5, 25,125, 6, 36, 216

(A) 64 @) 25

(C) 36 (D) 15

=1 sfEer # E ug Teid ¥ 99 T IR
B FTT BIG —

4, 15, 64, 5, 25, 125, 6, 36, 216

(A) 64 (B) 25

(C) 36 RGBT

If P denotes ‘+’, R denotes ‘X’, S denotes ‘-*

and T denotes ‘+’, then what will be the value

of 5ROP7S9T3P6? 3
(A) 128 (B) 59 E
(C) 55 (D) 54

afe P &1 a1t 4+, R%T 3w X, S T 3ef =
@ Tt aref = 2, @9 SROP7SIT3P6 BT A
FAT BITTY

(A) 128 (B) 59

(C) 55 (D) 54

Rohit multiplies a number by 2 instead of
dividing the number by 2. Resultant nuriber is
what percentage of the correct value?

(A) 200% (B) 300%

(C) 50% (D) 400%

JfRT TH G B 2 W WAT S B qOIg &
| O B <@ 5 | IR e qE A T
e wftrere 27

13. Choose the correct statement with respect to

interfaces —

(i) Java does not support “multiple inheritaﬁce”
however, it can be achieved by using
interfaces.

(ii) Unless the class that implements the
interface is abstract, all the methods of the
interface need to be defined in the class.

(iii) Tc; implement multiple interfaces, separate

them with a comma (,).

(A) Only (i)

(B) (i) and (ii) ﬁ

(C) (ii) and (iii) -

(D) (1), (ii) and (iii)

e HUA Bifey —

(i) ST AT geRed’ Bl FHE Tl B,
STafh T STRBY D HEgH A U fhar o
Hear 2| |

(i) 5T TH FeXDE Pl TN P Al A S

T ], I9 TP TTRBE B W DI Pl
FeTT # Rt w=A B sagadarn |
(iii) HeSITel SSXBW BT T YA 87 T°
SUfARTT (,) ¥ Yy farar oI 2
(A) BT (i)
(B) (i) T (ii)
(C) (ii) wd (iii)

(D) (i), (ii) T (i)

14. Match the following —

List-1
(i) A method that is used to create an
instantiation of a class
(ii) A signal that something has happened to
stop normal execution of a program
(iii) A graphical i 1mage that is usually stored in
a file
(iv) Converting one type of value to another
type is called
List - 11
(a) Bitmap
(b) Type casting
(c) Exception
(d) Constructor
(A) (i)-b, (ii)-c, (iii)-d, (iv)-a
(B) (i)-c, (ii)-d, (iii)-b, (iv)-a
(C) (i)-a, (ii)-b, (iii)-c, (iv)-d
(D) (i)-d, (11) -c, (iii)-a, (1v) b
e # —
List - 1
(i) Te fafer foreresr SuAmT fwdl oo™ instants
& T & forg faar o @
(ii) T Rieier & S v % @@ wld 8 W
WU B A AR B bl §
(iii) U Tfaret SHS ST SMAAR UR Teb BIgel
R P W g
(iv)'Qiﬁ value typeiﬁ\f W value type.ﬁ EEGEEL
FEART &
List - IT
(a) faedy
(b) 8T HIRET
(c) TR
(d) PRI
(A) (i)-b, (ii)-c, (iii)-d, (iv)-a
(B) (i)-c, (ii)-d, (iii)-b, (iv)-a
(C) (i)-a, (ii)-b, (iii)-c, (iv)-d
(D) (i)-d, (ii)-c, (iii)-a, (iv)-b

T S (A) 200% (B) 300%
(A) 148 (B) 143 (C) 50% (D) 400%
(C) 126 ’ (D) 152
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15. Hexa decimal‘ numbers are a mixture of -
(A) Octal and decimal numbers
(B) Binary and octal numbers
(C) Letters and decimal digits

(D) Binary and decimal numbers

g SRer | fAsor 8 —

(A) difgeet 3R SRFer T/l &1

(B) areeidl 3 aifaeer st 1 ﬁ
(C) wiex iR SRwer f3fviet @

(D) a8 ik SRivfer wTwRT BT

16.  Consider the following statement —

I.. A child process that remains running even
after its parent process is terminated or
completed without waiting for the child
process execution is called an orphan.

II. A process that has completed its task but
still, it shows an entry in a process table is
called a zombie process. '

(A) Both are true (B) Both are false

(C) Only 1 is true (D) Only II is true

faT Y P W AR B —

L U TIges W WY 31T IR U & 3
a9 of < B Ve &, Safh te W 3
farg & efife swemar oof & Wi €,
3IRGT HEa 2 |

Il U R WY SO TN W GR g B,
e b ORI eaa 7 fRwrE I
29T 9 FEeTd ® |

(A) B e & (B) B 3y &

C@Faa v & (D) daa Il 94 &

TT9077337

ik
©

)
e

19071337 119071337 119071337

- Who is known as the fathgr of Artificial

Intelligence (AI)?
(A) Ada Fisher (B) Alan Turing
(C) John McCarthy (D) Allen Newell

ms‘éﬁmﬁqml)%wﬁﬂﬁ?
(A) areT firer (B) wer ey
(C) it Hapreft (D) gferT e

Binary 101110.11 is equal to -

(A) (56.6)s Only (B) (46.75)10 Only

(C) (2E.C)16 Only (D) All  options are
' correct

arsr 101110.11 SRR & —

(A) (56.6)s hac (B) (46.75)10 @del

(C) (2E.C)i dact (D) Wit fawea el &
Which protocol layer uses the protocol SMTP,
HTTP, FTP? _

(A) Application layer (B) Transport layer

(C) Internal layer (D) Hardware layer

SMTP, HTTP, FTP Weidicl & SXcHTel P
eThicl - olaR Bl 87

(A) Teelides ok (B) gruOe oRiR

(C) gexTa e (D) ETEIIR R
Which of the following are.used to generate a
message digést by the network security
protocols?

(P) RSA (Q) SHA-1 (R) DES (S) MDS

(A). P and R only (B) Q and R only

(C) Q and S only (D) R and S only

Prfoiad § ¥ B W R SEoRe TN
@ B AT B, Tead RIGRE Meldid §RI?
(P) RSA (Q) SHA-1 (R) DES (S) MDS
(A) Pt P 3R R (B) el Q.3 R
(C)PaeT Q 3RS (D) dadt R 3R S

11QB-+ : 1 Page 6 of 24

- The minimum positive integers p such that 3P

modulo 17=11s -
ns5 (B) 8§
©) 12 ' (D) 16

AT SIS qUiie p S {6 3P modulo
=15~

(A) 5 (B) 8 -
(C) 12 (D) 16
- What dqes CSA stand for?

(A) Computer Service Architecture
(B) Computer Speed Addition
(C) Carry Save addition

(D) None of the mentioned

CSA & 1 a7

(A) Fraqey wfde snfdbcdr .
(B)W@Gm E
(C) &4 A9 uSEH

(D) IWIe BHIg Tl

- Match TCP/IP léyers and protocols -

Column - I.

(P) Transport layer
(Q) Network (internet) layer
(R) Application layer
Column - IT
1. ICMP
2.FTP
3. UDP A
(A) P-2,Q-1,R-3 (B) P-1, Q-2, R-3
(C) P-3,Q-1,R-2 (D) P-3,Q-2,R-1

119071337

. () P-3,Q-1,R-2

119071337

119071334

T & & &

119071337

o TR Wetdhied &1 e BN —
Column ~ I

(P) Fi¥dIE ok

(Q) Fedd (FTIT) RK

(R) Qe SRR
Column - 11

1. ICMP

2. FTP

3. UDP

(A) P-2,Q-1,R-3 (B) P-1, Q-2,R-3

(D) P-3, Q-2,R-1

v - Bthernet USES . cvveerin physical address that is

imprinted on the Network Interface Card (NIC).

(A) 48-bits (B) 48-bytes
(C) 4-bytes (D) 128-bits
BT i &1 hforae TS &M # o

3 S fr dead grexiE BTE (NIC) W B
eI B | _ i
(A) 48-bits (B) 48-bytes

(C) 4-bytes (D) 128-bits
- What does DDoS stand for?

(A) Data Denial-of-Service
(B) Distributed Denial-of-Service
(C) Distributed Data of Server

(D) Distribution of Data Service

DDoS ¥ 1 drad 87

(A) Data Denial-of-Service

(B) Distributed Denial-of-Service
(C) Distributed Data of Server

(D) Distribution of Data Service

119B - 4
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26. [f (146) x + (313)x2 = (246)s, then the value of Torer URERE a1 WA &1 Suanr B
base X is - T, T el W qud et # gEe W B
A) 5 (B) 6 & oA SRy yE e @ o gqm
© 7 (©) 9 FT W &7 |

. ; (A) THIRIge (B) gisie
AfX (146) + (313)s2= (246)s &, T base x Bl !
T value BFT? | (C) gifdex (D) SR ¥ F B
(A) 5 B 6 ‘ LI :
©) 7 (D) 9 29. What does OS X has?

27. (Consider an undirected un-weighted graph G. (A) Monolithic kernel with nodules
Let a breadth first traversal of G be done (B) Microkernel

' starting from a node r. Let d(r,u) and d(r,v) be
the length of the shortest path fromrtouand v (€) Monolithic kernel
respectively in G. If u is visited before v during (D) Hybrid kernel
the breadth first traversal, which of the
following statement is correct? 5 R
e 5
(A) d (r,u) <d (r,v) (B) d (r,u) >d (r,v) ST, Qe | T :
(C) d (r,u) < =d (r,v) (D) None of the above (A) Ariferfer e faer Aiere
Teh AyedeT HIRG U G WX faeR & | 99 o (B) HrspIen-ict
%Gﬁiﬁ%‘l‘é@ﬂﬁﬂﬁ'@@ﬂi@rﬁ% (C) FERRE T ﬁ
Bt &) 79 AT d (ru) 3R d(r,v) HHE '
JudlR v dd & Gad B Gl B €IS T, (D) ErEfIs @it
G ¥ uf u B, R o i b Ay | e i e
: . cess, fails most operating system write
A vgel o W &, FrforRad & | @59 @1 B
FoF TR 27 the error information to a -
' V process
C = D 1 i
() dgwy<=dv) . Ohg™ S Elﬁ's‘ i (C) Log file (D) None of the

28. Which CSS property can provide to add an mentioned
effect when changing from one style to another, R RN Bt 21 ST &, Y e sifRfT
without suing flash animations or java script? , b3 o

Rved B foraa 87
(A) Associations (B) Transitions i ol :
: (A) =g Brger A (B) gy Treri U H
(C) Transistor (D) None of the above: = _ ; :
(C) @iftT wiger | (D) SURIGT Pig Tl
11QB'+ Page 8 of 24

31. When a process is in a “Blocked” state it waits 34. How many types of ﬁolymorphismﬁ are
for some 1/O service. When the service is supported by C++?
leted it goes to th i e
: e .
completed it goes to the ©) 3 | ) 4 |
(A) Terminated State (B) Suspended state Ci+ Frert YR & dfchdiRrod &1 wwel
YT BP
(C) Running state (D) Ready state &
(A) 1 (B) 2
Al 4 G
/@ B s o i owen A g @ | O s
STTRRRRD SETRV is an indirect measure of software
98 B YT AN IATSeYT HaT DI Heflem HRA ~ development process. :
2| o9 Jar 0 & ol €, o g8 Fef S 87 (A) Cost (B) Effort applied
(A) efiics eawenr  (B) gWifres aravern (C) Efficiency (D) All of the
; mentioned
(C) fFfr arawer (D) ISY arae :
' : T ¥ divediR e ufehar &1 U Sicde
32. . i ; i : ;
Whlch‘of the following highly uses the concept SuRT FaT
of an array?
. : (A) BT (B) v o],
(A) Binary search tree (B) Caching
: (C) erwra (D) IWRTaT I
(C) Spatial locality (D) Scheduling of W
' 36. What is the another name for the circular queue
processes ;
among the following options?
R AR o (A) Square buffer - (B) Rectangle buffer
O RIICED qufm HIdT 87 . : 3
et ﬁ (C) Ring buffer (D) None of the above
(A) gy WA &1 (B) DR
(©) W SBRIE (D) SrgfeiT aift frfera famedt § @ w@aR w7 PG
: . s A T 8?
] (A) & R (B) 3RIT dH
33. Whi following is £ ; & i
Which of the following is not a type o (©) fET THe (D) i P
constructor? ‘ : 3 o
(A) Copy constructor (B) Friend constructor el
' 37. iftintion 3 :
1) Dethili oosbmice O) Businmand:. =~ || -1 i specification is also known as SRS
document.
constructor (A) White box (B) Grey box
, (C) Black box (D) None of the
et & § B AT PEaeR F YBR T8 27 mentioned
A o Fegaey @) B AR | fafySer F1 e & SRS WY
(€) Svice Bgaer (D) RpfievEss f ST S © . '
' ; (A 1] B) ¥ dfaq
s ) TBg i (B) & st
(C) =i dfas (D) 377 ¥ PIS &
119B - = Page 9 of 24




43. To match the specific XML elements child like

of parent element is the syntax will be -

(A) <xsl:template match =
“PLANET_NAME">

(B) <xsl:template match = “PLANET/
NAME”>

(C) <xsl:template match = “NAME”>

(D) <xsl:template match = “//”">

il ik el i

e ol o &1 Rica s8I —

(A) <xsl:template match = : ﬁ
“PLANET_NAME"> .

(B) <xsl:template match = “PLANET/
NAME”>

(C) <xsl:template match = “NAME">

(D) <xsl:template match = “//">

- Which of the following statements are true?

I. Shortest Remaining Time First(SRTF)
scheduling may cause starvation.

II. Preemptive scheduling may cause starvation.

Iﬂ. Round robin is better than FCFES in terms of
response time.

(A) Tonly -

(B). I & IIT only

(C) 1I and I1I only

(D) I, IT and III

45,

46.

(A) HRa e

ffoRed § @ o9 9 FoF 9@ 87

L 999 F9 A9 WA U= (SRTF) wgfeiT |
REeA 8 |l & |

1. Nufreg Jggfeht I e[ 8 9Fd & |

101 yfcifshar wwa & #el # WSS ¥ifes FCFS
HA /R

(A) B |

(B) aer 1 SR I

(C) Baat 13RI

(D)'I, I 3R I

If. the channel band is limited to 6 kHz and

signal to noise ratio is 16, what would be the

capacity of channel?

(A) 15.15 kbps (B) 24.74 kbps

(C) 30.12 kbps (D) 52.18 kbps

afy e 6 kHz a@ AT £ ik R
YR U 16 8, A7 =A7e1 DI &Har a1 8NP

(A) 15.15kbps - (B) 24.74 kbps

(C) 30.12 kbps (D) 52.18 kbps

Which type of channel does not represent any
correlation between input and output symbols?
(A) Noiseless channel (B) Lossless channel

(C) Useless channel (D) Deterministic

channel
e UPR T ATl T SR MSeYe Tt
% = &0 @ dey &1 ufafFRe T8 exar
2?
(B) qYoRfEd =Tel

(C) IBR A9 (D) e a9

387 Which of the following principle does queue 41. Which  of the following is the default
uset t ' ~authentication mode for IIS? '
2 EF Sinlron (A) Anonymotus
(A) LIFO principle - (B) FIFO principle
(C) Linear tree (D) Ordered array (B) Windows
oy foreaferieer ¥ < R Rigier 1 9GRT e (C) Basic authentication
l L E? (D) None of these
| (A) LIFO fgfa (B) FIFO e _
, ol W fr=foifRaa & & @9 W [0S @1 default
© s ’ (p) W authentication mode &7
39.  Quantizing noise occurs in - (A) Anonymous
(A) PCM (B) TDM i i
(C) FDM (D) PPM
: (C) Basic authentication
gR#THRT 2R BT B — (D) T | B AL
(A) PCM # (B) TDM # - 5
N 5 42. What is the correct HTML for creating a
C) FDM # (D) PPM #
" hyperlink?
40. Register renaming is doné in pipelined S i i s I i
processors - g :
. ¢ B .
(A) As an alternative to register allocation at (50 s e .
compile tinie (C) <a href =
(B) For efficient access to fu_nct.ion parameters “htips/fwww.example.com”>example</i>
and local variables :
D =
(C) To handle certain kind of hazards - i _
(D) As part of address translation “http://www.example.com”>example</a>
TEIATES FIRR R P AP {2 ORM® @ @ forg W& HTML @1 27
”E“%.— , _ (A) <aname =: “ 7> A </a>
(A) Sebelsl TR UR 3fTde &l &R @ fddey
(B) <a> B </a>
& WY H
: (C) <a href =
(B) ez tRifier iR wIF TR & FHIA _
“http://www.example.com”>example</a>
IR & forg :
; (D) <a url> =
(C) &5 YhR & wWaxi 4 fueq & fag | .
' > “http://www.example.com”>example</a>
(D) uaT JFaTE & W B BY A ¢ ¢ ;
1195- + Page 10 of 24
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47. What will be the path loss in dB for an open air 50. Machine learning is a field of artificial 52. The postfix form of the expression x 35 In which steps of SDLC actual programming of
site? intelligence consisting of learning algorithms (A+B)*(C+D-E)*F/G , is - software code is done?
oy ' (A) Development and documentation
(A) -8.27 dB B) -g0. (A) AB+CD*E-FG/s b= '
(B) -80.27 dB AT Tonpumsive sk peforsiies (B) Maintenance and evaluation
' ’ (B) AB+CD+E- FsG/ C) Desig
© 80'@3“3 (D) 8.27 dB (B) At executing some task ek o
(ap) (D) Analysis
o : C L : 8 (C) AB+CD*E-#F+G/
% SR Wge @ R dB F ver gy T (C) Over time with experience e o Gt e o e e
2 (D) All of the above (D) AB+CDE#*-+F*G/ :
gy 9 qreifas drfEr @ o) 87
— weflr affr snféfeRerer gefroi &1 & & ST (A+B)+(C+D-E)+F/G 1 St 9 & — () T 3R were
(A) -8.27 dB (B) -80.27 dB : N B IET 3N '
, forert aftr weiRers anfiver &, off — (A) AB-+CD*E-FG/#+ (B) <@ I o
(©) 80.27 dB (D) 8.27 dB A : (C) ResirgT 5
% | (A) S yge H PUR Rl & (B) AB+CD+*E- F++G/ n) P
48. Which 6fythe following values is the correct B T ) ; e :
e ' (B) ¥t il P H3 W E (C) AB+CD+E-+F+G/ 56. Which of the following is a first computer
value ofihis hexadecimal code 1F.01B? L irus?
g Lo (C) W @ Tl SHa W (D) AB+CDE+-#F*G/ %) i
(A) 35.0065918 (B) 32.0065918 8. ‘Wi s e e P
‘ : (D) TuRae T - Which of the following architecture is suitable ch-; (C) Creeper (D) Both (A) and (C)
(C) 31.0065918 (D) 30.0065918 for a wide range of data types? oh . \
51. Which of the following is a type of computer (A) 1A - 32 (B) ARM F:“ :‘é:m DI T U HEYER IR 77
. . N 9 B ster
ﬁﬁll?’l@r\ﬁ H 9 P 9+ EXl %Wléliﬁﬁa architecture and its subcategories? (C) ASUS firebird (D) 68000 g; V) Susges i s
Fgg P : _ e e o (C) Creeper (D) (A) e (C) €Il
IS IFQYB T el | 87 (A) Von Neumann and micro architecture i : : . i
< frg A ¥ B A1 onfedER ST TR @ 57. Which one of the following errors will be
(A) 35.(%5918 (B) 32.0065918 (B) Instruction set architecture oyt siwen & forg &2 ‘handled by‘the ope?ralirfg system?
(C) 310065918 (D) 30.0065918 (C) System design (A) TA - 32 ° (B) ARM c': (A) Lack of paper in printer
49. - ; . A . ; ; crg (B) Connection failure in the network
The decimal equivalent of binary number (D) All of the mentioned (C) ASUS firebrid (D) 68000 -t .
v i
; . y C - failure
GORH g ﬁ frefeafas % &9 td uER @1 e 54. In Wi-Fi security, which of the following g; Vil
- o e i a2 O (D Alloftheab
(A) 4375 (B) 0.4375 . anfseqer ol Tl 9y SR ¥ protocol is more used? —t of the above
— . .
e ” (A) WPA (B) WPA2 s g
: -0.4375 % : S THA—HT TR SfRfET Rives - awirerdn
(A) d=gH 3R A1geT nfdhear (C) wPS (D) Both (A) and (C) 5
—— , .
0.0111 IR Fax BT SRIHT THPper @ 87 (B) s=Ig a9 e anfdhcamr Wi-Fi 3Rem # /9 § 9 99 91 dieiaid ok
| PRI (A) fiex 9% Y T
aiferd SuyanT | ?
(A) 4,375 (B) 0.4375 (C) Rien feome+ ST (B) Siead H HHaE &1 Bl Bl Sl
(A) WPA (B) WPA2 ’
(€) 0.5375 (D) -0.4375 (D) SURTER : : (C) g HfeRR
| W (C) WPS (D) (A) Td (C) @i
(D) SURTeRT WY
119B - 4 Page 12 of 24 119B - '|' Page 13 of 24




58. Consider the following in the context of gAfthey @i (A+B)*C-D/E &1 Rawd differsr
internet - AR BAIT —
Column-I (A) -++ABC/DE
(F) Nt ot (B) AB+CD-+E/
(Q) Mark Zuckerberg © AB+C*DE-/
R) L Page
S (D) AB+C*DE/-
Column-II
60. In context of internet consider the following -
1. Facebook :
| -1
2. Google Columnsl -
(P) DUCKDUCKGO
3. Internet
Match column-I and column-II - (Q) FIREFOX
L R) SKYPE
(A) P2,Q-1,R-3  (B) P-1,Q-3, R2 (R)}S
Column-II
(C) P-3, Q-2, R-1 (D) P-3,Q-1,R-2
1. Browser
gewie & waf § e w AR W - . _
2.'Video conferencing
= 3. Search engine .
®) i W% Which of the following is correct match of
@ I 1 ‘ ﬁ ; column-I and column-11?
®R) N 0t (A)P-1,Q-3,R2  (B) P2, Q-1,R-3
Sl (©) P-3,Q-1,R2 (D) P-3,Q-2,R-1
1. BHgH
. e |
3. §eXT
' 2% (P) DUCKDUCKGO
W 1 T2 wa™— 11 &1 e e (Q) FIREFOX
(A) P-2, Q-1,R-3 (B) P-1, Q-3,R-2 (R) SKYPE
w11
(C) P-3,Q-2,R-1 (D) P-3,Q-1,R-2 -
' _ 1. SITSGR
59. Reverse polish notation for infix expression 2. fafear HimliT
(A+B)*C-D/E will be - 3. 99 g9
' - W — 11 &1
(A) -x+ABC/DE e 1;;# DI AT W — 1 e
(B) AB+CD-+E/ o
i (A) P-1,Q-3,R-2 (B) P-2,Q-1,R-3
(C) AB+C*DE-/ .
C) P-3,Q-1,R-2 (D) P-3, Q-2,R-1
(D) AB+C#DE/- © P-3,Q1, Q
1198' + Page 14 of 24

61. Which of the following is an offline Messaging 64. (Cascading termination refers to a termination of
App? » ' all child processes, if the parent process
(A) Vojer (B) Bing s
(C) Yandex (P) Lycos SR ——

; %) 3 A ‘ B
Pret 3 & BN W1 TP aimenee ARRT T &7 (A) normally or (B) abnormally
(A) Vojer * (B) Bing abnomally :
(C) Yandex (D) Lycos - (C) normally (D) None of the

62. Let relation R2 has a ‘foreign key’ that refers to sstiliofisd

primary key of relation R1. Which of the i s . f
-following operation may cause violation of il g B I
referential integrity constraints? P Gefid HRar % afy ﬁi’v‘c’ U G '
(A) Insertion of new tuple into R2 ST & —
(B) Deletion of tuple from R1
(C) Both option (A) and option (B) (A) w3 ST (B) SR 59 '\r}
(D) Neither option (A) nor option (B) W A
AT Rele R2 9 Ua BRAT @1 & o Rergm ©9m wId (D) IWaT P AR
R1aﬁmuﬁzﬁzﬁr€rﬂ?ﬁﬂ%|ﬁw'ﬁﬁaﬁa R R _
A st ; % -99- Binary Coded Decimal (BCD) numbers express
BHY HhdT %? each dlglt ina- E
(A) R2# AU euer &7 ufaftsavor (A) Bit (B) Byte :
(B) R1 1 29 I e (C) Nibble (D) All of the above
(C) fawed (A) a2 (B) fadey g1
D faepey T8 feen ‘ ' — .
. (D) = ar (A) 3R =1 & faweq (B) A B (BCD) i i
» In K-Map, those groups which cover at least 4 '
one minterm that can’t be covered by any other Eﬁ sl .! &
prime implicant is called- (A) Bit (B) Byte =
0% P i (C) Nibble (D) ToRYT Y
(B) Essential Prime Implicit - . : ;
" (€Y Redundant Pring mplicit  Which of the fol,lowm_g, fomat specifiers c'an_bc
" used to read floating type values, in C
(D) Selective Prime Implicit programming?
I(Mapﬁﬁgqmﬁwﬁmwﬁﬂeﬁﬁ (A) % e (B) % f
HeaX H & ford fHE 3 Prime Implicant ©) %g (D) All options are
ERT R & fHar S FHar B, v correct
HET 2 |
(A) wrew SRR C T § weifeT ey @ Jour B ugn
= ® R frer 3 ¥ P A Biie WRRRS
(B) srifirret wgw gfterfire wpa fry ST we 7
(C) Rese wizw gfafie (A) % e (B) % f
(D) Jafaey : : ©) %g - (D) ¥t @y Wl &
BIE : .

119B -
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67. The use of technology to enhance learning
process is called .............. in education.
(A) IT
(B) ICT
(C) Information Technique
(D) Communication Technology

A @ wfhar &1 gem & fore drenfia @

SUANT BT B Y e Far S 87

(A) IT

(B) ICT

(C) Information Technique (=T Teh=ileh)

(D) Communication  Technology GEIN
RERIED))

68. Register is a group of -

(A) Flip-Flop (B) OR gate

(C) AND gate (D) None of these
PR RevaT g 27 &

(A) Flip-Flop' (B) OR gate

(C) AND gate (D) &1 &

69. The word which describes the importance of
software design is - '
(A) Complexity (B) Quality

(C) Efficiency
9 BN W TR 2 o WiedRR e @

(D) Accuracy

wETd B quie FHRAT 87 .
(A) ST (B) [orar= :
(C) e (0) g
70. What is the port number of the HTTP?
~ (A) 80 (B) 25
(C) 20/21 (D) 23

HTTP &7 UI¢ e} RIT 87

71.

72.

73.

74.

ARP stands for-
(A) Address Routing Protocol

(B) Address Routing Packet

(C) Address Resolution Protocol

(D) Address Routing Program

ARP T qof w7

(A) Tgw w=feT Uiekaia

(B) Tgw w=feT dae _

(©) e Brstiyer T

(D) Tgw e g™

Secure Hash Algorithm-1 (SHA-l) has a
méssage digest of-
(A) 160 bits

(C) 628 bits

Ry 29 TeliRem—1 (SHA-1) &7 Wawr

(B) 512 bits
(D) 820 bits

SIEOIRE & — :
(A) 160 faew (B) 512 fadew
(C) 628 facw (D) 820 faca

-GSM technology was a standard developed

by -
(A) United Kingdom  (B) United States

(C) Europe (D) Australia

GSM dad+ie fhas grT faefia fhar
oqr? :
(A) grses fpren (B) wWYaW WSy

(©) Ry (D) sifgferar
IPv4 address have a éize of -

(A) 32 bit {B) 64 bit

(C) 128 bit (D) 256 bit

[Pv4 Ud T A9 8IdT & —

(A) 80 (B) 25 (A) 32 f3e (B) 64 fac
(C) 20/21 (D) 23 (C) 128 fae (D) 256 fae
119B - 4=
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75. A proxy firewall filter works at - _
-(A) Physical layer (B) Data link layer
(C) Network layer (D) Application layer

?WWWWWWW
?

(A) fsfmer oRR (B) ST folp oraR
(C) Fgad oRR (D) TfHeM oRR

76.  Global Positioning System uses - :
(A) CDMA ®sova
(C) FDMA (D) TDMA
Tellge eI Ries SygeT #var & — .
(A) CDMA (B) SODMA
(C) FDMA (D) TDMA

77. Software  Quality  Assurance  (SQA)
encompaSSCS - ;

(A) Verification (B) Validation
(C) Both (A) and (B) (D) None of the above

Affeday T anvarad (SQA) H wnfier
% :

(A) Feg+ (B) #=elr
(©) (A)aﬁ-\r B)TFI (D) SR H I P
BBl

78. Which feature of OOP boost the code

reusability?
(A) Encapsulation
(C) Inheritance

(B). Polymarphism
(D) Abstraction

OOP &' ®\ ¥ Rvwar T T Wiwy &
goTar Tail B e
(A) TTebgere
(C) sTeRe=

(B) dfeiRithoy
(D) vsHg e

79. DHTML is not a standatdized language for

which company?
(A) Microsoft . (B) Oracle
(C) W3 schools (D) Facebook

DHTML &% ®Ut & forg Aasigrer «mar =&t
27 .
(A) Microsoft

(C) W3 schools

(B) Oracle
(D) Facebook

80.

81.

(C) 33iR 1

- (C) Diffie- Hellman

If we implement heap as maximum heap,
adding a new node of value 15 to the left most
node of right subtree, what value will be at leaf
nodes of the right subtree of the heap?

e
). i)

(A)‘ 15and 1 (B) 25 and 1
(C) 3and 1 (D) 2 and 3

afe &9 €U B T 9 B WU F
FA &, A9 15 BT 747 A8 TW IS B wad
99 A8 § Siied 8, 91 89 @ 1R Sugl @
% AeH W R Tod BIT?

(B) 25 3R 1
(D) 23R 3

Which of the following is not a symmetric key

(A) 153R 1

cryptography algorithm?
(A) RC4 (B) Blowfish
(D) DES

Frefofe § ¥ @m U symmetric key

~ cryptography qaniﬁim el 87

(A) RC4
(C) Diffie- Hellman

(B) Blowfish
(D) DES

119B - ¥
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82. Which method is used for both error detection 84. An entity is represented by set of -
and error correction method in computer (A) Attibutes (B) Relationship
networking? (C) Model (D) None
{A) Single Parity Check .
(B) Hamming Distance N~ S gpT 1 forer de gRT <afam S %f
(C) Cyclic Redundancy Check (CRC) 9 Mg (B) Rererfirg
(D) Checksum ‘ «—  (C) #5154 (D) &g 7E
Frapexy Aeafen # fea fafr o1 sy R 885- The correct sequence of HTML tags for starting
feeaM Ud U} FNae el @ forg fepar simar |©O) a webpage is -
8 —  (A) Head, Title, HTML, Body
(A) Rirer ARSY A (B) HTML, Body, Title, Head
(B) 2ffT o (C) Head, Title, HTML, Body
(©) wehes Re<d e B (D) HTML, Head, Title, Body
(D) e ' g 9 USl YH A @ Y TS gAETel. (HTML)
83. Sclect the false statement ‘about CDMA |« & B FE B & ‘
[echno]ogy i g (A) Head, Title, HTML, BOdy 2
I. CDMA technology optimizes the use of oy (B) HTML, Bedy, Title, Head E
available bandwidth as it transmits over the :: (C) Head, Title, HTML, Body
entire frequency range. . (D) HTML, Head, Title, Body
II. Each user in a CDMA system uses a 86. Which of the following document contains the
different code to modulate their Signa]. user Sys[em requirement? i
11l. CDMA technology offers less security as (A) SRD (B) DDD
compared to the GSM technology. - (C) SDD (D) SRS
IV.A SIM carfJ is always required for the % - @f o " ; i R
working of a CDMA device. o4 ) -
(A) Only (I) (B) Only (II) g : ‘
() (1) and (IT) (D) (III) and (IV) s WD (B) DDD
' v (C) SDD (D) SRS
CDMA @@+ & IR H Tefd $oF B T899 o=
T < . 87. The Knapsack problem where the objective
I. CDMA @& Suerel bandwidth @ SUamT e function is to minimize the profit is -
F—ﬁ Optimize Rl & wifs T€ Fqol AMIRT |y (A) Greedy (B) Dynamic 0/1
¥o1 wR g el ® | ™ .
L. CDMA Riew i e STrTadt o : (C) Back tracking (D) Branch & Bound
Ryt &7 Gafeg & & forg uw s 8 0/1
BIS BT SYYNT HAT 2 | ~— - 3
: . AU AR TTET e BT AT DI BH BRAT
[Il. CDMA @i GSM @i @l goren & [©
WY [RET YSTH B © | & -
IV. CDMA feaiga & & & & forg s (A) Greedy (B) Dynamic 0/1
v R Pre 1 saeawar s & (C) Back tracking (D) Branch & Bound
(A) Bad (T) (B) &ae (I0) st
(©) (1)Td (1) (D) (I1I) Td (1V)
119B -
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88. What will be the output of the program?

89.

Public class test 2 |
Public static void main (String [ | args) {
StringBuffer.S1 = newStringBuffer (“Complete™);
Sl.setCharAt(l, ‘i’);
S1.setCharAt(7, ‘d’);
System.out.printin (S1);

]
}

(A) Complete
(C) Cimpletd

(B) lomplede
(D) Coipletd
YT %1 ATSeYe T BITT?

Public class test 2 {

Public static void ma'in.(Slring [] argé) {

* StringBuffer.S1 = newStringBuffer (“Complete”):
Sl.setCharAt(l, 4°); |
Sl.setCharA(7, “d’);

System.out.println (S1); .

}
}

(A) Complete
(€) Cimpletd

(B) lomplede
(D) Coipletd
An advantage of chained hash table (external

hashing) over the open addressing scheme is -

11Q0N7412327
TIoT o917

14100712327
rTooT oo

91.

90. Which one of the following is an application of .

queue data structure?

(A) When a resource is shared among multiple
consumers

(B) When data is transferred asynchronously
between two pfocesses

(C) Load balancing

(D) All of the above

fFr=ferRaa # & @1 a1 queue ST ERTAT BT

T IFYATT &7 :

(A) STq U G By SRR & i are
foban S & :

(B) S1g Se1 &1 ufhawei @ 9w sigeumifors
&Y A wEiaRd o e g

(C) @ire doifRi :

(D) SRIaT Y

In context of network security match the
following—
Column - I
(P) Fabrication
(Q) Modification
(R) Interception
Column-I1
|. Message confidentiality
2. Message integrity
3. Authentication

N
aip)
(A) Worst case complexity of search operations (A) P-1, Q-3, R-2 " (B) P2, Q-1, R-3
is less (C) P-3,Q-1,R-2 (D) P-3, Q-2, R-1
(B) Space used is less Soud Rt & e @ Famr 2t -
(C) Deletion is easier Column -1
(D) None of the above (P) g
) A (Q) Hieiftherer
39T USRI WHH W chained hash table T (R) FrexaT
% BRIET £ — Columjl -1 :
(A) @rer Prat @) wa @ Refy wa 2 L. Sty iy
2. 799 s
(B) SUAIT @I ST dTell S8 FH © 3. iR
(C) BT T & (A) P-1, Q-3, R-2 (B) P-2,Q-1,R-3
(D) SRt ¥ W B TE (€) P3,Q-1,R2 (D) P-3,Q-2,R-1
119B - 4= Page 19 of 24




92.  CPU scheduling is the basis of - 94. Which of the following events is/are exposed by
iect?
(A) Multiprograming operating system e Tats Sibla ahjecs)
(A) RowChanged
(B) Large memory sized systems
) (B) ColumnChanged
(C) Multiprocessor systems
(C) RowChanging
(D) None of the mentioned '
A ' (D) All of the above
RIS | O
B BT s 51 m@aﬁﬁma@zwmm
(A) HeETarfAT SifRfET yomed ERT SOTR fy Ty &7
A '
(B) 7 s & (A) RowChapged
(C) 71y Y wonferai (B) ColumnChanged s
(D) SwRaT H | B &l (C) RowChanging
93. i
Network devices ........c. i and are (D) SR T
used at physical layer.
‘ 95. 8’s complement of (7650) is -
(A) Gateway, Bridge
~ (A) 0230
(B) Router, Repeaier
(B) 0130
(C) Hub, Switch
(©) 1230
(D) Repeater, Hub ‘
(D) 3450
dead  fEARIT T e :
(7650) T 8's complement 8-
frofihe TR W WYE B E ‘
(A) 0230
(A) 7req, fast
(B) 0130.
(B) vrger, Rirex
(D) Reffex, =a (D) 3450
119B - 4 Page 20 of 24

9. Choose the correct statements — 98. Match the following —

(i) Simplex reflex agents take decisions on the List I

basis of the current percepts and past history. 8 .

(ii) When uniqueness in the agents current state A. Disk Scheduling
completely determines the next state of the B. Batch Processing
agent, t'hf.: e.nvironment is said to be C. Time Sharing
deterministic.

(iii) The environment is semi-dynamic if the D. Interrupt Processing
environment itself does not change with the -

< : List = IT
~ passage of time but the agent’s
performance score does. 1. Round Robin
(A) (i) and (iii) (B) (i) and (ii) 5
(C) (ii) and (iii) (D) All of the above
3. LIFO

T B BT T R — 4. FIFO

() Rrey Ruclew yolie qawe gRom Sﬂ'\’
fwa sfie™ @ smR W ol on &) Code -

(i1) oig Toie &Y gaaE e P ﬁ?ﬂ K| (A) A-3, B-4, C-2, D-1
Tole B 3Tl W feefis

ﬁ 1?1 ‘ ;ﬁ@‘iﬁ Lok i (B) A-4, B-3,C-2, D-1
RefiffRes e o 2| . (C) A-2, B4, C-1, D-3

(iil) I W99 & AT YIIRRAHE T8l ggarar (D) A-3, B-4, C-1, D-2
®, Afd goie &1 gl R A aRad
qIar 8, a1 39 9 ST UHIRREHE fr=forfad &1 g —
FEd B | -1 A

(A) (i) 3R (iii) (B) (i) 3R (ii) A. R Sreafef

(C) (ii) 3R (iii) (D) IoRTaT | B. §7 TRARAT

97. Wmch one olf the fo}lo:ing ii( ;he process of C. eT=q AT

Tt t'1n the stack e R

inserting an element in the sta 5

(A) Insert : g

(B) Add ; o o

- 1. WSS AfaT
(D) None of the above 3. LIFO
4. FIFO
frefaRaa § & = 0 ?%'CF» % aeT e A e —
m ? ]
¥ (A) A-3,B-4, C-2, D-1

(A) Insert o

(B) Add (B) A-4, B-3,C-2, D-1

(C) Push (C) A-2,B-4,C-1,D-3

(D) SWr ¥ W FE A WaAAEA LD
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99.

100.

For def“inin’g the best time complexity, let
f(n) = log(n) and g(n) = v/n,
(A) f(n) € Q (g(n)), but g(n) & Q (f (n))

(B) f(n) ¢ Q (g(n)), but g(n) € Q (f (n))
(©) f(n) ¢ Q (g(m)), and g(n) ¢ Q (f (n))

(D) £(n) € Q (g(n)), and g(n) € Q (£ (n))

e T BT B RweT e @ R
A NI f(n) = log(n) and g(n) = V0, ........
(A) f(n) € Q (g(n)), but g(n) & Q (f (n))

(B) f(n) ¢ Q (g(n), buit g(n) € Q (F (n))

(©) f(n) ¢ Q (g(n)), and g(n) ¢ Q (f ()
(D) f(ri) € Q (g(n)), and g(n) € Q (£ (n)

Which of these is fault base testing technique?
(A) Stress testing

(B) Unit testing ﬁ

(C) Beta testing '

(D) Mutation testing

frer & & P W whee aws 2RST @1 T
& o el

(A) B 2ReT

(B) gfre 2ReT

" (©) drer 2Ren

(D) = 2RET

119B - 4

Page 22 of 24

Space for Rough Work /3% &1 & farg GITIE

119B - 4

Page 23 of 24




RIS SHARI 999 918, SR

T BT A gd Ple: aRS e IRus N wlf wWer-2022 @ v 73), 119B

W @1 fire: 19-06-2022

fa@oq wwar

il
76
77
78
79
80
81

TS At ET | W SR T

82

83

84
85

86

87

88
89
90
91

92

93

94
95

96
97

98

99

100

U & %9 |E 9% &7 s

51

nZ
53

54
h5
56
57
58
59
60

61

62

63

64
65

66
67

68
69

70
73

72

73

74
75

fawm W

=

26
27

¥ o W WEl ST BT

28
29
30
31

32

33

34
35
36
ai

38
39
40

41

42

43

44

45

46

47

48

49

50

fawen wer

Delete

WA W W | w8 TR @
wer

10
11

13

14
15
16
1/
18
19
20
21
22

23

24
25

fe=i®: 31-08-2022



